
Name:	_____________________________

Date:	______________________________

Scholastic	Classics:	A	Christmas	Carol:	Criss	Cross

Answer	clues	based	on	the	content	and	vocabulary	words	from	Scholastic
Classics:	A	Christmas	Carol.	Look	for	hints	in	the	Word	Bank.	Print	the	puzzle	or

use	on	your	tablet,	phone,	or	computer.
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Across

4.	Scrooge	rejects	a	Christmas	___	invitation,	and	all	the	good	tidings	of	the	holiday,
from	his	jolly	nephew,	Fred.
5.	At	night,	Scrooge's	former	partner,	Jacob	Marley,	dead	for	seven	years	visits	him
in	the	form	of	a	___.
7.	Marley's	spirit	has	been	wandering	since	he	died	as	punishment	for	being
consumed	with	___	and	not	with	people	while	he	was	alive.
9.	Scrooge	yells	at	___	workers.
10.	The	Ghost	of	Christmas	Past	shows	Scrooge	scenes	from	the	past	when	he	was
a	young	___.

Down

1.	The	Ghost	of	Christmas	Yet	to	Come	shows	Scrooge	that	people	are	glad	to
hear	that	Scrooge,	himself,	has	___.
2.	The	Ghost	of	Christmas	Present	shows	Scrooge	the	___	household.
3.	Marley	tells	Scrooge	that	three	___	will	come	to	him	over	the	next	three	nights.
6.	When	he	wakes	up,	Scrooge	is	___	to	everyone	he	sees.
8.	Ebenezer	Scrooge,	a	miserly,	cold-hearted	creditor,	continues	his	stingy,	___
ways	on	Christmas	Eve.

Word	Bank

GREEDY DINNER CHARITY GHOST
BUSINESS SPIRITS BOY CRATCHIT
DIED FRIENDLY



Answer	Key
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